## Research article

# Distribution of values of Hardy sums over Chebyshev polynomials 

Jiankang Wang, Zhefeng Xu* and Minmin Jia

Research Center for Number Theory and Its Applications, Northwest University, Xi'an 710127, China

* Correspondence: Email: zfxu@ nwu.edu.cn.


#### Abstract

This paper mainly studied the distribution of values of Hardy sums involving Chebyshev polynomials. By using the method of analysis and the arithmetic properties of Hardy sums and Chebyshev polynomials of the first kind, we obtained a sharp asymptotic formula for the hybrid mean value of Hardy sums $S_{5}(h, q)$ involving Chebyshev polynomials of the first kind. In addition, we also gave the value of Hardy sums $S(h, q)$ and $S_{3}(h, q)$ involving Chebyshev polynomials. Finally, we found the reciprocal formulas of $S_{3}(h, q)$ and $S_{4}(h, q)$ involving Chebyshev polynomials of the first kind.


Keywords: Hardy sums; Chebyshev polynomials; values
Mathematics Subject Classification: 11F20, 11B83

## 1. Introduction

Let $q$ be an integer with $q>0$. For any integer $h$, we have Dedekind sums $s(h, q)$

$$
s(h, q)=\sum_{a=1}^{q-1}\left(\left(\frac{a}{q}\right)\right)\left(\left(\frac{a h}{q}\right)\right)
$$

where

$$
((x))= \begin{cases}x-[x]-\frac{1}{2}, & \text { if } x \text { is not an integer; } \\ 0, & \text { if } x \text { is an integer }\end{cases}
$$

$[x]$ is the largest integer not exceeding $x$. The Dedekind sums, named after Richard Dedekind himself, are finite sums of products of the sawtooth functions. They arise in the functional equation resulting from the action of the Dedekind eta function under modular groups (see [1,3]). Dedekind sums have been found in applications in the analytic number theory, topology, and other branches of mathematics. Many scholars gave the various interesting properties of Dedekind sums (see [5,16]), the most famous of which is the reciprocal formula of Dedekind sums

$$
s(h, q)+s(q, h)=\frac{h^{2}+q^{2}+1}{12 h q}-\frac{1}{4}
$$

where $h, q$ are two positive integers such that $(h, q)=1$.
Hardy sums analogue to the Dedekind sums are defined by

$$
\begin{array}{ll}
S(h, q)=\sum_{i=1}^{q-1}(-1)^{i+1+\left[\frac{h i}{q}\right]}, & S_{1}(h, q)=\sum_{i=1}^{q}(-1)^{\left[\frac{h i}{q}\right]}\left(\left(\frac{i}{q}\right)\right), \\
\left.S_{2}(h, q)=\sum_{i=1}^{q}(-1)^{i}\left(\left(\frac{i}{q}\right)\right) /\left(\frac{h i}{q}\right)\right), & S_{3}(h, q)=\sum_{i=1}^{q}(-1)^{i}\left(\left(\frac{h i}{q}\right)\right), \\
S_{4}(h, q)=\sum_{i=1}^{q-1}(-1)^{\left[\frac{h i}{q}\right]}, & S_{5}(h, q)=\sum_{i=1}^{q}(-1)^{i+\left[\frac{h i}{q}\right]}\left(\left(\frac{i}{q}\right)\right) .
\end{array}
$$

Hardy sums play important roles in the transformation formula of the logarithm of the classical theta function [4] and they are closely connected with Dedekind sums [17]. Many scholars studied the mean square value of Hardy sums (see [13, 19]). Many scholars also considered the connection between Hardy sums and some famous sums. Guo et al. [12] and Peng and Zhang [15] gave some identities involving certain Hardy sums and Kloosterman sums. Dağlı [6] studied a computational problem of the mean values involving certain Hardy sums and two-term exponential sums. Further, Dağlı and Sever [7] and Tian and Wang [18] considered the mean value of generalized Hardy sums weighted by Kloosterman sums.

For any integer $n \geq 0$, Chebyshev polynomials of the first kind $T_{n}(x)$ and Chebyshev polynomials of the second kind $U_{n}(x)$ are defined by $T_{0}(x)=1, T_{1}(x)=x$ and $T_{n+2}(x)=2 x T_{n+1}(x)-T_{n}(x), U_{0}(x)=1$, $U_{1}(x)=2 x$, and $U_{n+2}(x)=2 x U_{n+1}(x)-U_{n}(x)$. Let $\alpha=x+\sqrt{x^{2}-1}$ and $\beta=x-\sqrt{x^{2}-1}$, and we know that

$$
T_{n}(x)=\frac{1}{2}\left(\alpha^{n}+\beta^{n}\right)=\frac{n}{2} \sum_{k=0}^{\left[\frac{n}{2}\right]}(-1)^{k} \frac{(n-k-1)!}{k!(n-2 k)!}(2 x)^{(n-2 k)}
$$

and

$$
U_{n}(x)=\frac{1}{\alpha-\beta}\left(\alpha^{n+1}-\beta^{n+1}\right)=\sum_{k=0}^{\left[\frac{n}{2}\right]}(-1)^{k} \frac{(n-k)!}{k!(n-2 k)!}(2 x)^{(n-2 k)} .
$$

Many authors have studied the elementary properties of Chebyshev polynomials and obtained a series of interesting conclusions (see [2,9,14,20]). Guan and Li [11] studied the problem of asymptotic analysis of the mean value involving Dedekind sums and Chebyshev polynomials of the first kind, and they obtained

$$
\begin{aligned}
& \sum_{m \leq N} \frac{s\left(T_{m}(x), T_{m+1}(x)\right)}{m} \\
& \quad=\frac{2 x-3}{12} \cdot N+\frac{1}{12}\left(2 x-3-\sqrt{x^{2}-1}+C(x)+\frac{1}{x}\right) \cdot \ln N+O(1)
\end{aligned}
$$

where

$$
C(x)=\sum_{n=1}^{\infty} \frac{1}{T_{n}(x) T_{n+1}(x)} .
$$

The distribution of values in Dedekind-type sums, such as Dedekind sums and Hardy sums involving the second-order linear recurrence polynomials, is an intriguing area of study, offering
insights into the behavior and properties of these mathematical objects (see [8,21]). Understanding the distribution of these values is crucial for various applications in number theory and analysis. In this paper, we delve into the investigation of the distribution of values in Hardy sums, focusing on Chebyshev polynomials of the first kind. By leveraging the method of analysis and exploiting the arithmetic properties of Hardy sums and Chebyshev polynomials, we aim to provide a comprehensive understanding of the distribution patterns and establish precise formulas for hybrid mean values and other relevant quantities. This research contributes to the broader understanding of the interplay between Hardy sums and Chebyshev polynomials, shedding light on their intricate properties and applications in mathematical analysis.

First, we give a sharp asymptotic formula for the mean value of Hardy sums $S_{5}(h, q)$ involving Chebyshev polynomials of the first kind.

Theorem 1.1. Let $N>2$ be an integer. For any odd integer $x \geq 3$, we have

$$
\sum_{m \leq N} \frac{S_{5}\left(T_{m}(x), T_{m+1}(x)\right)}{m}=\frac{N}{2}+\left(\frac{x-1}{2 x}-\frac{C(x)}{2}\right) \cdot \ln N+O(1)
$$

where $C(x)=\sum_{n=1}^{\infty} \frac{1}{T_{n}(x) T_{n+1}(x)}$.
Remark. By using the same methods as used in this paper, for any real number $1<s<2$, we also have

$$
\sum_{m \leq N} \frac{S_{5}\left(T_{m}(x), T_{m+1}(x)\right)}{m^{s}}=\frac{N^{2-s}}{2(2-s)}+\zeta(s-1)+O(1)
$$

where $\zeta(s)$ denotes the Riemann zeta function. If $s=2$, then we have

$$
\sum_{m \leq N} \frac{S_{5}\left(T_{m}(x), T_{m+1}(x)\right)}{m^{2}}=\frac{\ln N}{2}+O(1)
$$

From Lemma 2.4, we know that $S_{5}\left(T_{m}(x), T_{m+1}(x)\right) \sim m$ when $m$ is large, so when $s>1$, the asymptotic formula does not reflect the effect of $\sum_{n=1}^{m} \frac{1}{T_{n}(x) T_{n+1}(x)}$.

We also give the values of $S(h, q)$ with Chebyshev polynomials.
Theorem 1.2. Let m be a nonnegative integer. For any positive integer $x$, we have

$$
S\left(U_{m}(x), U_{m+1}(x)\right)=m+1
$$

Note. Taking $x=1$ in Theorem 1.2, we have $U_{m}(1)=m+1$ and $S(m+1, m+2)=m+1$.
Theorem 1.3. Let $m$ be a nonnegative integer. For any even integer $x \geq 2$, we have

$$
S\left(T_{m}(x), T_{m+1}(x)\right)=m+1 .
$$

Note. Taking $x=2$ in Theorem 1.3, we have $T_{3}(2)=26, T_{4}(2)=97$, and $T_{5}(2)=362$. We also know that $S(26,97)=4$ and $S(97,362)=5$.

Moreover, we have the value of $S_{3}(h, q)$ involving Chebyshev polynomials of the first kind as follows:

Theorem 1.4. Let $m$ be a nonnegative integer. For any odd integer $x \geq 3$, we have

$$
S_{3}\left(\overline{2} T_{m}(x), T_{m+1}(x)\right)=\frac{1-x}{2} m+\frac{2-x}{4}-\frac{T_{m}(x)}{4 T_{m+1}(x)}
$$

where $\overline{2}$ satisfies $\overline{2} 2 \equiv 1\left(\bmod T_{m+1}(x)\right)$.
Finally, we also have the reciprocal formulas of $S_{3}(h, q)$ and $S_{4}(h, q)$ involving Chebyshev polynomials of the first kind by using Theorem 1.4.
Theorem 1.5. Let $m$ be a nonnegative integer. For any odd integer $x \geq 3$, we have

$$
S_{3}\left(T_{m}(x), T_{m+1}(x)\right)-S_{3}\left(T_{m+1}(x), T_{m}(x)\right)=\frac{T_{m+1}(x)}{2 T_{m}(x)}-\frac{T_{m}(x)}{2 T_{m+1}(x)}-\frac{(2 m+1)(x-1)}{2} .
$$

Theorem 1.6. Let $m$ be a nonnegative integer. For any odd integer $x \geq 3$, we have

$$
S_{4}\left(T_{m}(x), T_{m+1}(x)\right)-S_{4}\left(T_{m+1}(x), T_{m}(x)\right)=(2 m+1)(x-1) .
$$

Note. Taking $x=3$, we have $T_{1}(3)=3, T_{2}(3)=17, T_{3}(3)=99, T_{4}(3)=577$, and $T_{5}(3)=$ 3363. We also know that $S_{3}(27,17)=-\frac{22}{17}, S_{3}(850,99)=-\frac{227}{99}, S_{3}(28611,577)=-\frac{1900}{577}, S_{3}(3,17)=$ $-\frac{10}{17}, S_{3}(17,99)=-\frac{157}{99}, S_{3}(99,577)=-\frac{1492}{577}, S_{4}(3,17)=4, S_{4}(17,99)=6, S_{4}(99,577)=8$, and $S_{4}(577,3363)=10$. From Theorem 1.6 and the fact that $S_{4}\left(T_{m+2}(x), T_{m+1}(x)\right)=-S_{4}\left(T_{m}(x), T_{m+1}(x)\right)$, we have Corollary 1.7 as follows:
Corollary 1.7. For any nonnegative integer $m$, we have

$$
S_{4}\left(T_{m}(3), T_{m+1}(3)\right)=2 m+2 .
$$

From Corollary 1.7 and Lemma 2.3, we also give the following corollary:
Corollary 1.8. For any nonnegative integer m, we have

$$
S_{3}\left(T_{m}(3), T_{m+1}(3)\right)=\frac{1}{2}-m-\frac{T_{m}(3)}{2 T_{m+1}(3)} .
$$

By using similar methods as used in this paper, we can also consider Dedekind-type sums involving the second-order linear recurrence polynomials, for example, Fibonacci polynomials, Lucas polynomials, Pell polynomials, etc. Fibonacci polynomials $F_{n}(x)$ are defined by $F_{0}(x)=0, F_{1}(x)=1$, and $F_{n+1}(x)=x F_{n}(x)+F_{n-1}(x)$ for any positive integer $n$. We have the following result:
Theorem 1.9. For any positive integer $n$ and any even integer $x \geq 2$, we have

$$
S\left(F_{2 n-1}(x), F_{2 n}(x)\right)=1, \quad S\left(F_{2 n}(x), F_{2 n+1}(x)\right)=0
$$

For Bessel polynomials, which are defined by $y_{0}(x)=1, y_{1}(x)=x+1$, and $y_{n+1}(x)=(2 n+1) x y_{n}(x)+$ $y_{n-1}(x)$, we can get the following result similar to Theorem 1.4:
Theorem 1.10. For any nonnegative integer $n$ and any even integer $x \geq 2$, we have

$$
S_{3}\left(\overline{2} y_{n}(x), y_{n+1}(x)\right)=\frac{1}{4}-\frac{y_{n}(x)}{4 y_{n+1}(x)}-\frac{(n+1) x}{4}
$$

where $\overline{2}$ satisfies $\overline{2} 2 \equiv 1\left(\bmod y_{n+1}(x)\right)$.
Remark. Restricted by Lemma 2.1, we can draw results similar to Theorems 1.4-1.6 for Hardy sums involving the second-order linear recurrence polynomials when the values of these polynomials are odd integers, and it is easy to obtain results similar to Theorems 1.5 and 1.6 for Hardy sums involving Bessel polynomials from Theorem 1.10.

## 2. Some lemmas

To prove theorems, we need the following several lemmas.
Lemma 2.1. Let $h, q>0$ be odd integers with $(h, q)=1$, then we have

$$
s\left(\frac{q+1}{2} h, q\right)+s\left(\frac{h+1}{2} q, h\right)=\frac{h^{2}+q^{2}+4}{24 h q}-\frac{1}{4}
$$

and

$$
s(h, 2 q)+s(2 h, q)+s(2 \bar{h}, q)=3 s(h, q)
$$

where $\bar{h}$ satisfies $h \bar{h} \equiv 1(\bmod q)$.
Proof. See Theorem 1 and Lemma 2 of [10].
Lemma 2.2. Let $h, q>0$ be integers with $(h, q)=1$, then we have

$$
\begin{array}{ll}
S_{3}(h, q)=2 s(h, q)-4 s(2 h, q), & \text { if } q \text { is odd } ; \\
S_{4}(h, q)=-4 s(h, q)+8 s(h, 2 q), & \text { if } h \text { is odd } .
\end{array}
$$

Proof. See [17].
Lemma 2.3. Let $h, q$ be positive integers with $(h, q)=1$. If $h+q$ is odd, then we have

$$
S(h, q)+S(q, h)=1
$$

if $h+q$ is even, then we have

$$
S_{5}(h, q)+S_{5}(q, h)=\frac{1}{2}-\frac{1}{2 h q} ;
$$

and if $q$ is odd, then we have

$$
2 S_{3}(h, q)-S_{4}(q, h)=1-\frac{h}{q} .
$$

Proof. See [17].
Lemma 2.4. Let $m$ be a positive integer. For any odd integer $x \geq 3$, we have

$$
S_{5}\left(T_{m}(x), T_{m+1}(x)\right)=\frac{m}{2}-\frac{1}{2} \sum_{n=1}^{m} \frac{1}{T_{n}(x) T_{n+1}(x)}+\frac{x-1}{2 x} .
$$

Proof. From the recursive formula of Chebyshev polynomials of the first kind, if $x \geq 3$ is any odd integer, then we have that $T_{m}(x)$ is an odd integer. According to the recursive formula of $T_{m}(x)$ and the properties of the greatest common divisor of ( $T_{m+1}(x), T_{m+2}(x)$ ), we also have

$$
\begin{aligned}
\left(T_{m+1}(x), T_{m+2}(x)\right) & =\left(T_{m+1}(x), 2 x T_{m+1}(x)-T_{m}(x)\right) \\
& =\left(T_{m+1}(x), T_{m}(x)\right) \\
& =\cdots=\left(T_{1}(x), T_{0}(x)\right) \\
& =1 .
\end{aligned}
$$

From Lemma 2.3, we obtain

$$
S_{5}\left(T_{n}(x), T_{n+1}(x)\right)+S_{5}\left(T_{n+1}(x), T_{n}(x)\right)=\frac{1}{2}-\frac{1}{2} \frac{1}{T_{n}(x) T_{n+1}(x)}
$$

and it is obvious that

$$
\begin{gathered}
S_{5}\left(T_{n+1}(x), T_{n}(x)\right)=S_{5}\left(2 x T_{n}(x)-T_{n-1}(x), T_{n}(x)\right)=-S_{5}\left(T_{n-1}(x), T_{n}(x)\right), \\
S_{5}\left(T_{0}(x), T_{1}(x)\right)=S_{5}(1, x)=\frac{x-1}{2 x} .
\end{gathered}
$$

Thus,

$$
\sum_{n=1}^{m}\left[S_{5}\left(T_{n}(x), T_{n+1}(x)\right)-S_{5}\left(T_{n-1}(x), T_{n}(x)\right)\right]=\sum_{n=1}^{m} \frac{1}{2}-\frac{1}{2} \sum_{n=1}^{m} \frac{1}{T_{n}(x) T_{n+1}(x)}
$$

and

$$
S_{5}\left(T_{m}(x), T_{m+1}(x)\right)-S_{5}\left(T_{0}(x), T_{1}(x)\right)=\frac{m}{2}-\frac{1}{2} \sum_{n=1}^{m} \frac{1}{T_{n}(x) T_{n+1}(x)} .
$$

In summary, we have

$$
S_{5}\left(T_{m}(x), T_{m+1}(x)\right)=\frac{m}{2}-\frac{1}{2} \sum_{n=1}^{m} \frac{1}{T_{n}(x) T_{n+1}(x)}+\frac{x-1}{2 x} .
$$

Lemma 2.5. Let $N \geq 3$ be an integer, then for any integer $x \geq 2$, we have

$$
\sum_{m \leq N} \frac{1}{m} \sum_{n=1}^{m} \frac{1}{T_{n}(x) T_{n+1}(x)}=C(x) \ln N+O(1)
$$

where $C(x)=\sum_{n=1}^{\infty} \frac{1}{T_{n}(x) T_{n+1}(x)}$.
Proof. See [11].

## 3. Proofs of theorems

Now, we prove our theorems by using the above lemmas.
Proof of Theorem 1.1. Combining Lemmas 2.4 and 2.5, we see that

$$
\begin{aligned}
\sum_{m \leq N} \frac{S_{5}\left(T_{m}(x), T_{m+1}(x)\right)}{m} & =\sum_{m \leq N} \frac{1}{2}-\sum_{m \leq N} \frac{1}{2 m} \sum_{n=1}^{m} \frac{1}{T_{n}(x) T_{n+1}(x)}+\frac{x-1}{2 x} \sum_{m \leq N} \frac{1}{m} \\
& =\frac{N}{2}-\frac{C(x)}{2} \cdot \ln N+\frac{x-1}{2 x} \cdot \ln N+O(1) \\
& =\frac{N}{2}+\left(\frac{x-1}{2 x}-\frac{C(x)}{2}\right) \cdot \ln N+O(1) .
\end{aligned}
$$

Proof of Theorems 1.2 and 1.3. Similar to the proof of Lemma 2.4, for any nonnegative integer $m$ from the recursive formula of Chebyshev polynomials of the second kind, we have that $U_{2 m}(x)$ is an odd integer and $U_{2 m+1}(x)$ is an even integer for any positive integer $x$. We also have

$$
\begin{aligned}
\left(U_{m+1}(x), U_{m+2}(x)\right) & =\left(U_{m+1}(x), 2 x U_{m+1}(x)-U_{m}(x)\right) \\
& =\left(U_{m+1}(x), U_{m}(x)\right)=\cdots=\left(U_{1}(x), U_{0}(x)\right) \\
& =1
\end{aligned}
$$

From Lemma 2.3, we obtain

$$
\begin{aligned}
& S\left(U_{n}(x), U_{n+1}(x)\right)+S\left(U_{n+1}(x), U_{n}(x)\right) \\
& \quad=S\left(U_{n}(x), U_{n+1}(x)\right)-S\left(U_{n-1}(x), U_{n}(x)\right)=1
\end{aligned}
$$

and we know that

$$
S\left(U_{0}(x), U_{1}(x)\right)=S(1,2 x)=1 .
$$

Thus,

$$
\begin{aligned}
& S\left(U_{m}(x), U_{m+1}(x)\right) \\
& \quad=\sum_{n=1}^{m}\left[S\left(U_{n}(x), U_{n+1}(x)\right)-S\left(U_{n-1}(x), U_{n}(x)\right)\right]+S\left(U_{0}(x), U_{1}(x)\right) \\
& \quad=m+1 .
\end{aligned}
$$

This proves Theorem 1.2.
Similarly, we also have Theorem 1.3.
Proof of Theorem 1.4. For any odd integer $x \geq 3$, from the proof of Lemma 2.4 we have that $T_{m}(x)$ is an odd integer and $\left(T_{m}(x), T_{m+1}(x)\right)=1$. By Lemma 2.1, we can get

$$
\begin{aligned}
s\left(\frac{T_{n+1}(x)+1}{2} T_{n}(x), T_{n+1}(x)\right) & -s\left(\frac{T_{n}(x)+1}{2} T_{n-1}(x), T_{n}(x)\right) \\
& =\frac{T_{n}(x)^{2}+T_{n+1}(x)^{2}+4}{24 T_{n}(x) T_{n+1}(x)}-\frac{1}{4},
\end{aligned}
$$

then we have

$$
\begin{align*}
& s\left(\frac{T_{m+1}(x)+1}{2} T_{m}(x), T_{m+1}(x)\right) \\
& \quad=\sum_{n=1}^{m} \frac{T_{n}(x)^{2}+T_{n+1}(x)^{2}+4}{24 T_{n}(x) T_{n+1}(x)}+s\left(\frac{T_{1}(x)+1}{2} T_{0}(x), T_{1}(x)\right)-\frac{m}{4} \\
& \quad=\sum_{n=1}^{m}\left\{\frac{T_{n}(x)}{24 T_{n+1}(x)}-\frac{T_{n-1}(x)}{24 T_{n}(x)}\right\}+\frac{1}{6} \sum_{n=1}^{m} \frac{1}{T_{n}(x) T_{n+1}(x)}+s(2, x)+\frac{x-3}{12} m \\
& \quad=\frac{T_{m}(x)}{24 T_{m+1}(x)}+\frac{1}{6} \sum_{n=1}^{m} \frac{1}{T_{n}(x) T_{n+1}(x)}+\frac{x^{2}+4}{24 x}-\frac{1}{4}+\frac{x-3}{12} m . \tag{3.1}
\end{align*}
$$

From Lemma 2.1 of [11]:

$$
\begin{align*}
s\left(T_{m}(x), T_{m+1}(x)\right)= & \frac{T_{m}(x)}{12 T_{m+1}(x)}+\frac{1}{12} \sum_{n=1}^{m} \frac{1}{T_{n}(x) T_{n+1}(x)} \\
& +\frac{1}{12 x}+\frac{x-3}{12}+\frac{2 x-3}{12} m . \tag{3.2}
\end{align*}
$$

Using the fact that $s(h, q)=s(\bar{h}, q)$, where $\bar{h}$ satisfies $\bar{h} h \equiv 1(\bmod q)$, we have

$$
s\left(\frac{T_{m+1}(x)+1}{2} T_{m}(x), T_{m+1}(x)\right)=s\left(2 \overline{T_{m}(x)}, T_{m+1}(x)\right) .
$$

Let $2 \times(3.2)$ subtract (3.1), then we have

$$
\begin{equation*}
2 s\left(T_{m}(x), T_{m+1}(x)\right)-s\left(2 \overline{T_{m}(x)}, T_{m+1}(x)\right)=\frac{T_{m}(x)}{8 T_{m+1}(x)}+\frac{x-1}{4} m+\frac{x-2}{8} . \tag{3.3}
\end{equation*}
$$

By Lemma 2.2, we can write

$$
S_{3}\left(\overline{2} T_{m}(x), T_{m+1}(x)\right)=-2\left(2 s\left(T_{m}(x), T_{m+1}(x)\right)-s\left(2 \overline{T_{m}(x)}, T_{m+1}(x)\right)\right) .
$$

According to (3.3), we have Theorem 1.4.
Proof of Theorems 1.5 and 1.6. Combining Lemmas 2.1 and 2.2, we see that

$$
\begin{aligned}
S_{4}(h, q)-2 S_{3}(h, q) & =-4 s(h, q)+8 s(h, 2 q)-2(2 s(h, q)-4 s(2 h, q)) \\
& =-8 s(h, q)+8 s(h, 2 q)+8 s(2 h, q) \\
& =-8 s(h, q)+8(3 s(h, q)-s(2 \bar{h}, q)) \\
& =16 s(h, q)-8 s(2 \bar{h}, q) \\
& =-4 S_{3}(\overline{2} h, q) .
\end{aligned}
$$

According to Theorem 1.4 and Lemma 2.3, we can get

$$
\begin{gathered}
S_{4}\left(T_{m}(x), T_{m+1}(x)\right)-2 S_{3}\left(T_{m}(x), T_{m+1}(x)\right)=\frac{T_{m}(x)}{T_{m+1}(x)}+2(x-1) m+x-2, \\
2 S_{3}\left(T_{m}(x), T_{m+1}(x)\right)-S_{4}\left(T_{m+1}(x), T_{m}(x)\right)=1-\frac{T_{m}(x)}{T_{m+1}(x)}
\end{gathered}
$$

and

$$
2 S_{3}\left(T_{m+1}(x), T_{m}(x)\right)-S_{4}\left(T_{m}(x), T_{m+1}(x)\right)=1-\frac{T_{m+1}(x)}{T_{m}(x)},
$$

then we immediately have

$$
S_{4}\left(T_{m}(x), T_{m+1}(x)\right)-S_{4}\left(T_{m+1}(x), T_{m}(x)\right)=(2 m+1)(x-1)
$$

and

$$
S_{3}\left(T_{m}(x), T_{m+1}(x)\right)-S_{3}\left(T_{m+1}(x), T_{m}(x)\right)=\frac{T_{m+1}(x)}{2 T_{m}(x)}-\frac{T_{m}(x)}{2 T_{m+1}(x)}-\frac{(2 m+1)(x-1)}{2} .
$$

## 4. Conclusions

Hardy sums play important roles in analytic number theory and it is of interest to study the properties of Hardy sums. Generally speaking, it is difficult to give explicit formulas for the values of Hardy sums, especially when $(h, q)$ is large. Therefore, we want to give as many of the values of Hardy sums as possible in special cases, such as Hardy sums involving polynomials. In this paper, we obtained an explicit asymptotic formula for the mean value of $S_{5}\left(T_{m}(x), T_{m+1}(x)\right)$. Moreover, we also found the values of $S\left(T_{m}(x), T_{m+1}(x)\right) ; S\left(U_{m}(x), U_{m+1}(x)\right)$; and $S_{3}\left(T_{m}(x), T_{m+1}(x)\right)$. These results are useful for understanding the behavior and properties of Hardy sums. For example, for any integers $x>0$ and $m \geq 0$, we have

$$
S\left(U_{m}(x), U_{m+1}(x)\right)=m+1
$$

If we know the values of Chebyshev polynomials of the second kind $U_{m}(x)$ and $U_{m+1}(x)$, then we can immediately find the values of Hardy sums $S\left(U_{m}(x), U_{m+1}(x)\right)$. Many scholars also considered the properties of generalized Hardy sums (see [7, 18]). In the future, we hope to study the values of generalized Hardy sums involving Chebyshev polynomials by using similar methods as used in this paper.

## Use of AI tools declaration

The authors declare they have not used Artificial Intelligence (AI) tools in the creation of this article.

## Acknowledgments

The authors express their gratitude to the referees for very helpful and detailed comments.
This work is supported by National Natural Science Foundation of China (11971381, 12371007) and Shaanxi Fundamental Science Research Project for Mathematics and Physics (Grant No. 22JSY007).

## Conflict of interest

The authors declare that there are no conflicts of interest regarding the publication of this paper.

## References

1. T. M. Apostol, Modular functions and Dirichlet series in number theory, New York: SpringerVerlag, 1976.
2. L. P. Bedratyuk, N. B. Lunio, Derivations and identities for Chebyshev polynomials, Ukr. Math. J., 73 (2022), 1175-1188. https://doi.org/10.1007/s11253-022-01985-8
3. B. C. Berndt, Generalized Dedekind eta-functions and generalized Dedekind sums, T. Am. Math. Soc., 178 (1973), 495-508. https://doi.org/10.2307/1996714
4. B. C. Berndt, Analytic eisenstein series, theta-functions, and series relations in the spirit of Ramanujan, J. Reine Angew. Math., 303/304 (1978), 332-365. https://doi.org/10.1515/crll.1978.303-304.332
5. J. B. Conrey, E. Fransen, R. Klein, C. Scott, Mean values of Dedekind sums, J. Number Theory, 56 (1996), 214-226. https://doi.org/10.1006/jnth. 1996.0014
6. M. C. Dağl, New identities involving certain Hardy sums and two-term exponential sums, Indian J. Pure Ap. Math., 54 (2023), 841-847. https://doi.org/10.1007/s13226-022-00302-0
7. M. C. Dağl, H. Sever, On the mean value of the generalized Dedekind sum and certain generalized Hardy sums weighted by the Kloosterman sum, Ukr. Math. J., 75 (2023), 889-896. https://doi.org/10.1007/s11253-023-02234-2
8. K. Dilcher, J. L. Meyer, Dedekind sums and some generalized Fibonacci and Lucas sequences, Fibonacci Quart., 48 (2010), 260-264.
9. E. H. Doha, A. H. Bhrawy, S. S. Ezz-Eldien, Numerical approximations for fractional difusion equations via a Chebyshev spectral-tau method, Cent. Eur. J. Phys., 11 (2013), 1494-1503. https://doi.org/10.2478/s11534-013-0264-7
10. X. Y. Du, L. Zhang, On the Dedekind sums and its new reciprocity formula, Miskolc Math. Notes, 19 (2018), 235-239. https://doi.org/10.18514/mmn.2018.1664
11. W. J. Guan, X. X. Li, The Dedekind sums and first kind Chebyshev polynomials, Acta Math. Sin., 62 (2019), 219-224.
12. W. J. Guo, Y. K. Ma, T. P. Zhang, New identities involving Hardy sums $S_{3}(h, k)$ and general Kloosterman sums, AIMS Math., 6 (2021), 1596-1606. https://doi.org/10.3934/math. 2021095
13. H. N. Liu, W. P. Zhang, On certain Hardy sum and their $2 m$-th power mean, Osaka J. Math., 41 (2004), 745-758. https://doi.org/10.18910/10379
14. C. L. Lee, K. B. Wong, On Chebyshev's polynomials and certain combinatorial identities, B. Malays. Math. Sci. So., 34 (2011), 279-286.
15. W. Peng, T. P. Zhang, Some identities involving certain Hardy sum and Kloosterman sum, J. Number Theory, 165 (2016), 355-362. https://doi.org/10.1016/j.jnt.2016.01.028
16. H. Rademacher, E. Grosswald, Dedekind sums, Carus Mathematical Monographs, 1972.
17. R. Sitaramachandrarao, Dedekind and Hardy sums, Acta Arith., 48 (1987), 325-340. https://doi.org/10.4064/aa-48-4-325-340
18. Q. Tian, Y. Wang, On the hybrid mean value of generalized Dedekind sums, generalized Hardy sums and Kloosterman sums, B. Korean Math. Soc., 60 (2023), 611-622. https://doi.org/10.4134/BKMS.b210789
19. Z. F. Xu, W. P. Zhang, The mean value of Hardy sums over short intervals, P. Roy. Soc. Edinb. A, 137 (2007), 885-894. https://doi.org/10.1017/S0308210505000648
20. W. P. Zhang, T. T. Wang, Two identities involving the integral of the first kind Chebyshev polynomials, B. Math. Soc. Sci. Math., 60 (2017), 91-98.
21. W. P. Zhang, Y. Yi, On the Fibonacci numbers and the Dedekind sums, Fibonacci Quart., 38 (2000), 223-226.
© 2024 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0)
